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WEST BENGAL STATE UNIVERSITY

B.A. Honours 181 Semester Exmminaton, 2021-22

PHIACOROIT-PHILOSOPHY (CC1)

Time Allotted: 2 Hours Full Marks: 30
T fhypeevs dn Bl el desalicanter full murdy, iy Suw vy sl waliil fare Ay
Ceamddichrres shopld anower fn their o wearals eilfandln Erow sy vor 2w eedfisne sow
wndd eelhere o phe word Wiy ax procticalle Pee affre;

AN symboly gre of paswod siembhicanoe

Question No. 1 and 2 are compulsory. Answer any o from the rest
et gy oyt wRferE ) w=fE - 5 enem Teawe

1. Answer any five questions from the following: x5=10

fufefe qrceten »fofe e Tea we:

(a) What is knowledge, according 1o Plato?
i WE W

(b) How does Arstotle define *matter’ and ‘form™!
wfroeT FrENE EXHW & WoeE-47 e W ¢

() What is the first principle of Descartes’ Philosophy?
e Wit e e Ry

(d) What is mnate idea, according to Leibnitz?
FEARITE W0E, FEETE gl ¢

(e) What does Descartes mean by “Criterion of truth®?
g et sawe’ qune 8 qfume ¢

i) What is Pantheism?
AT Sy

(2) What are the three kinds of knowledge admitted by Spinoza?
Gogaien Hige feazm w8 69

(h) What is attribute, according to Spinoza?
frairoTa WrE w9 d y

(1) What is the distinetion between Truths of reason and Truths of [act?
TEETRTR WE] 9 SEIEHTE FIORE W vV &

() What is “Pre-cstablished harmony’, according 1o Leibnitz?
ek afeiren woe, v fefie Jewmae sne aon g
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b

Answer any tweo questions from the following:
fereifore cu.comn 9B 2wa Bee wer

(8) How does Plato refute the view that sense perception is not knowledge?

xih! Treime 4% we wow aren ey eem wE e v

(h) Does Aristotle recognize the possibility of *Pure Matter™?

it f& fewe Svree argae) Fam st

(¢) How many types of Ideas are accepted by Descartes? Explain with examples.

(WTE & SRETER K12V Fiws 2Ees v Tergse STy A e |

(d) What does Spinoza mean by ' Intellectual love of God™? Explain briefly.

1024

Frsraren “Traaa 2 (T S WeTe [ A ¢ O A1) ST

Explain Anstotle’s criticism against Plato’s theory of wdea. Discuss, m this
connection, Aristotle’s “Third Man® argument.

®h wresrergd e wfannoee wfermaef aa ) 4 e WilTooE owe
wEh e 5ieT s @

Explain fully the Coantesian method of doubt. Discuss in this connection whether
Descartes can properly be called a sceptic.
FpEhE e onafefa fww Fag we | et B ee wd Soera® @ o g

Discuss, Descartes” doctrine of substunce. How does Spinoza develop Cartesian
dualism into monism? Discuss,

RS BTG TG S0E | P #lera Fedd [Weae (WS Weeary T
= ¢ WTE FTEh

What are Monads, according to Leibnitz? 11 the Monads are qualitstively different
then how is the harmony of the world maintaned?

EAfTEs TE Heomme 7 ¢ Heemae’ o eweena for m, omF wnes 3%
Frema apm == W ¢

N 5 Seaclety have fo complete sichmbscon of their Aaswer Seripty shrough E-madl / Whatsapp o
thedr ovn peapeciive colleges on B same day ¢ date of examimation wiphion 1 Rekr after vad
of evam Undversite / Collége amthorition will not be fefd rexponsile for weong submriciion
fad iw praper addresss. Stadenis are serongly adfvised nor o submie muliiple copees of ihe
SEIRT ST Sl

[
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WEST BENGAL STATE UNIVERSITY

B.A. Honours st Semester Examination, 2021-22

PHIACORO2T-PHILOSOPHY (CC2)
WESTERN LOGIC-1

Time Allowted: 2 Hours Full Marks: 50
Fhe figneen in the wnarizine fodicane full marks, snfe Sape sy 2wl e o Ay
Comndicfares should anower in their oniy worgy sl fereT ST TN Fgw TwAEE WY
and alivere et sovwad s aew prevardivahle Few eftce

A xvmbols e of powod saenificaroe

GROUP-A
e
L Answer any five questions from the following: Ix5=10

ffefae q.comen o5l 2iwe Bee we:

(a) What is the negation of 2 contingent statement form? Why?
56 wfes TaTeEr Rem a S s w = y

(h) What is exclusive disjunction” Give example.
feomar “mw @re ) ram ¢ T e

(¢) What is truth functional compound statement?
s A A e 2w

(d) 17°P" is true, then determine the truth value of (Q=sP)v(P2Q)
iR <P HE W EA (O=Pyv (P Q) -8 TerE= =eh w2

(¢) What are the characteristics of Rules of Replacement?
sfegrm M e fafe

(1} We can find a shorter truth table only when the argument s mvalid — Explain,
@ a4 gaf e, e w ek e wfwey e e onfa — A s

(2) What is *Indirect Proof™ (1L.P.)?
izt e *gfe s anw o

(h) What is counter example?
T TEE T A ¢

(1) A valid argument may have o false conclusion — s this statemnent true?
w&fh ton few Frare G =ow wie — faafel fo e g

(1) What is substitution instance?

feiramre) whre a7 407 9
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GROUP-B
fest-=
2. Answer any e questions from the following: §=2=10
ferafrfare oot §F =ioen Tow me:
{a) What arc the differences between Material Equivalence and Logical Equivalence?
agrne el o Afes wader snde e
(b) What is Conditional Proof? Explain with examples.
LT e e FIE a0F § SELaNE a1 A
(¢) Is method of truth-tree an indirect proof? Give reasons for your answer,
e orefe & cafl = o wafe 9 conng Tare 7o e e

(d) How does the law of exportation validate the rule of conditional proof?
Exportation-43 ¥zl Fam asfos eum e sy

GROUP-C
fawmsta
3. Answer any e guestions from the following: 15=2 =30
frmffare m-cemen ¢ emwa Tes wes
(4) Determune  whether the following  statement  forms  are  tautology,
sell-contradictory or contingent by means of truth table.
PR FEI A5 Aenataein weiwe, vy o wefee v e e
) o9y eo9lslpvriog 3
(i) [p2ig-nil=lipogror] 3
(iii) Define tautology and Self-Contradictory. 3
W LIAGTE @ ArATIn AW #e
(h) Use truth table to determine the validity or invalidity of the following arguments: 343

wepwria werE Fefe ffeefre e a wtawe B s
(i) (Ov P20
O=(0-P) 12 (0O PYS(0-P)

(i) If Japan continues to increase the export of oil, then either Korea or China
will sulfer economic decline. Kores will not suffer economic decline. It
follows that, Japan continues to increase the export of oil, then China will
suffer cconomic decline,

o s waae tew i 1% A, v T il wen i wdifen s
o) (afeum wdaies wew oa W) FeEn 1 e Swaas tew agle 9fe are,
wrare S wdhToe Ty T

I
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4. (a) Use truth tree method to test the following arguments; 141
FEI vl s e Falee feekmiae o e
(i) (ALB)»C.C4 /2. -B

(i) Mormrty s guiltv. Though Crumm is guilty, Morary is not. Therefore
Holmes 15 a violnist.

s we wfee o o, 3wl ) gEE o s arEEmE

{(b) Use truth three method to determine whether the following propositions are 1
consistent:

wepA opafie o aa farse e e el faw faue st
(i) (A&B)—=C

(i) —A=D

(i) B—=(Cv D)

L=

(¢) What s meant by a ‘model’ of & consistent set of statements in the truth tree
method?

we sefore ool moafovs ase wafla wus v s f e g

(d) Determune by truth tree method whether the following statement is tautologous or 3
not:

Fep omsfen winy efefee 2 we v e e
(A&B)=(Cv 1)

5. Construct  formal  prool  of validiy of the following arguments:  5=3 = |8
(Do not use C.P.or LP.)

e esfn wRRe uem o Wey( C.P, 3 1P, aTEm T i )
(@) (HoPY(SoW) /o (HvS)»(PvIV)
by  Jv(-J-K)
Jol fad-N=d

() If the first dijunct of a disjunction is true, the dispunction as a whole is true,
Therefore, if bath the first and second disjuncts of the disjunction are ture, then
the disjunction as a whole i true.

% teafeos o avw Mew we @, oEm Wy ESleE Tl we &) wead
TtaTys e g g1 5 few e @, ws oy sl w5l v @

6. (a) Use the method of Conditional Proof 1o prove the validity of the followmng 4
arguincnt:

s e swien Fa frafeve gieiha tare =@ s
[H-(v )2 S) 1 (H-Dsi v HYo(J v H))

1074 3 Tiarn Ower



CBCS/BAHons /st Sem/PHIACORO2T/2021-22

(b) Use the method of Indirect Proof to prove the validity of the following argument:
“TaTs e “afed WEnn Sk gfefba Tare wae e
A8 C)
(Bv D)= E
Dvd o E
(¢) Prove the invalidity of the following argument by the method of assigning truth
values:
gy s e W) Firsa Yiefa wtane s s
(A-B)2AC- D)
[{(B-~A)DE]
ExD
AR
A 2
(d) Use the method of Indirect Proof to verify that the following is a tautology:
AT S voa FE HWE B U e A w o
A=[Av(4-B))

NB.:  Stwdents have te compdete siebmission of their Anvwer Sorijpes through E-mail © Whatsapp
tr their s respective colleges on the same day  date of evamination within | hosr
eifter end of exem. Usiversity | College authorithes will not be held responsible far wreig
sulumixniom fiet i govgner gafifevss). Stoadenly e steomply advivesd mol 5o saihweit mnaliiple
cognes of the SaEm REEr SO,
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WEST BENGAL STATE UNIVERSITY
B.A. Honours 1st Semester Examination, 2020, held in 202 ]

PHIACOROIT-PHILOSOPHY (CC1)

Time Allotted: 2 Howrs Full Marks: 30
The flenres e e maneo iodcate fild marks, ﬂ'n'-'lﬁ" Fa vy el o Srve wn
Candidates shiuld answer in their owsr words wiftendiar [Sre wrTT T R WA W
v aihvere tor the word Dimit o poacticifile Fea e

AN symbols are of ssped significanoe

Question No, 1 and 2 are compulbsory, Answer any rwo from the rest
Yot wEr 3 w0t oyl wraerE | wafe(d - § e Toa we

. Answer uny five questions from the following: 2=5=10

fofrfire cu.caieen ofsfl =oee Bea we:

(4) What is substance, according to Descartes?
rairea e wa 4y

(b) How many types of ldea are accepted by Descartes?
ot v g T am e F Ay

(¢) Mention any two differences between the views of Descartes and Spinoza.
ortd & Petrenens wfesines o qr-caen 4fS =i orte

(d) What is the main tenct of Spinoza’s metaphysics?
Frmem wfem = R Sy

{e) What does Spinoza mean by “modes™?
e Ty PermTE @ gRnTE ¢

(N What is ‘Intellectual love of God', according to Spinozu?
Pt sire “qfempre Suares 31

(g) Why Leibniutz is called ‘extreme rationalist” philosopher?
e wrEAfesTs el Jfea i g g

{h) Is the notion of substunce of Leibnitz differ fom Cartesian view and atomistic
view?
sl sareg (4 eddn we ¢ oo we o fen e

(1) What is the ‘Law of Sufficient Reason’, sccording to Leibnitz?
wikafe fige oy fe foe B &y

(j) How does Leibnitz distinguish between perception and apperception”?
engafie etepe & ety Wiy feia s arar ¢

iy
X

td
1]

=]

-k Answer any twe questions from the following:
Frafrfare qi-coren g% ot Taw =
(a) How does Arnstotle distinguish between “form’ and ‘matter'?
HTiaa e wem & "B on W o] s ¢

1024 | Turn Cher
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(h) What is Cartesian “method of doubt™? Explain briefly,

ringa Rwemte’ & ¢ WO GG Al

() Explain the importance of critenion of truth in Descartes” philosophy.

(FETER Wi FETETE TS 9 E0 WA S

(d) “Whatever is. 1s in God, and nothing can exist or can be conceved without God® -

What does Spmoza mean by the statement?
‘a1 Ty ie, STEt SR 4 (T ed wiEehE w1 o weE @) 5 e we -
<% Fie WAl P §) gl

(¢) What is the distinction between Truths of reason and Truths of fact? Explain after

Leibnitz.
e W) 9t T WA W W0 w1 F ¢ ekl o w0 e

() Explam Leibnitz's view on Innate Idea.

1024

FHE1E Nt FEoe wRAlE W wEse S

Critically explain Plato’s theory of know ledge.
(2irBra wawey ¥asie wIeTs @A

Explain Plate’s theory of forms or ideas. What are the objections of Aristotle
against Platonic theory of Ideas?

BT R A WANIY A A (HBH wwenece feos wnfERten wefesln fe
fa gy

How does Descartes amive at his principle “cogito ergo sum™? Can it be regarded
as the foundation of his philosophy? - Discuss .

oratd Sreice wifa o of, wegq wifi wft’ - g8 5l wifwm e ¢ 7aloe e el
werera Fefgatet weg @ o ¢

Explain Spinoza’s theory of know ledge.
FogTeTa WIwag SIETSH 37

How does Spinoza define *Substance™? Explain, following Spinozs, how substance
is related 1o attributes.

Faren Sy Srare wow) e ¢ PoaTens Sepes 302 A W SE TR A
T

Whist are the characteristics of Leibniz's monad? What are the differemt kinds of
monad according 1o Leibniz? How does he explain ther relation?

witafnes Bevaneg o & ¢ el o5 o Boeay For e ¢« &h Feme
AT T S0

MR Svedenin huve 8 Complte silsseioion of thele Arswer Senjpiy throagh E-mail | Whatsgyp o
sheir owor respeceive dolleges o e same i/ dute of exomimadon wirkin | fowr affer end
aff exam, Uimiversity & Coffege asthonitior will aof be bedd responsible for weong vafamixsion
fuar dn progrer addeein). Stalents ave arromely advilied oot o sedwds mudeiple copres of the
el e seript
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WEST BENGAL STATE UNIVERSITY
B.A. Honours 1st Semester Examunation. 2020, beld m 2021

PHIACORO2T-PHILOSOPHY (CC2)

WESTERN LOGIC-1

Tune Allotted: 2 Hours

Full Marks: 30

Fhe figneen in the wnarizine fodicane full marks, snfe Sape sy 2l o o apey
Comndicfares should anower in their oniy worgy sl fereT ST TN Fgw TwAEE WY
and alivere et sovwad s aew prevardivahle Few eftce

1.

A xvmbols e of powod saenificaroe

GROLUP-A
Answer any five questions from the following:
fraffare qi-camen #i56 =ree e we:
(1) What is the negation of a tautology? Why?
«afS wsi57E) awia fow a9 H e @y
(b} Define Material Implication.
agere efeofaa voa wa)
(¢) What is propoesitional function? Give an example of it.
AHTwE SIS 409 ¢ @vareeres aalh Tulzae wie
(d) What is truth-functional connective?
FETICEE (e S A Y
(e) If pvg=F,then determane the truth vialue of the statement:
(p=q)rig> p)
W pvg=F T (pog)lgD p)-£7 e e e
(1) Define ' =" by truth-table.
FETARG FENE =" 6 Fw W6
(2) When is an argument invalid?
ol i sws el em v

th) I P-©Q" is true, then determine the truth-value of “~(P=0)".

“P.QUEE R < (P =) awEE g
{1} Symbolise the following:

aéteifie st
(1) pis the necessary and sufficient condition of g.
pgad wfifie s «E
(i) pifg
pig
1074 i
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CBCS/BAHons/ Ist Sem/PHIACORO2T/2020, held in 2021
(1 Give two logical equivalences of the proposition * A = B ' in terms of (1) * " and
= (1) *v" and -7,
‘Ao B &2 Al AfEE TR AR e (1) e CI WAL (1) v 8- e
e

(ki If 4 and B 15 vrue and X and Y is false, then what will be the truth-value of
xoiBv-8).

jepTmm,em ) ey RumenEE x o (B - 8)-@AvEE Ry
(1) State the rule of Absorption ( Abs),
Absorption (Abs)-&2 el e

GROUP-B
2 Answer any twe questions from the followimng: Sx2 = L)

Fraiiere ql-cwien 16 eiowa Bam e

(a) What are the differences between exclusive disjunction and inclusive disjunction?
it ga wfona® wya'-a o e

(b) What is counter example? Explain with example.
T FETE FF A ¢ SEIGE T AN A

{c) Distinguish between Rules of Infierence and Rules of Replacement.
WEEIRE R & e Ham W * e

(d) Explain the method of Indirect Proof with an example.
wafs Turgarsa Wi P i) fsfe are s

(e) Distinguish between a truth-functional compound statement and a non-truth
functional statement.

T (A5 T € WHETILer (Rifee 2y s wiei fesfa e
() What is Conditional Proof? Explain with example.
Tulsaei¥e Hiaiee o wafe aie ars Teisavse a0 S

GROUP-C
i Answer any twe  questions from the following: 15x2 =30
forsfefire m.canen §f% =iona Tor e
(a) Determmne  whether the following statement forms are tawtology.  sell- 3x3=9

contradictory or contingent by means of truth table:

FETARd R A aeeas i we e, wofaw @ wefes o Tl wm
() [patwganl=lg=(p2nl

(i) [(poglor]=ig2 p)or]

(i p-gvi-p~gll=(p=q)

I
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(h) Use truth-table 1o determine the validity or invalidity of the following arguments
(any rwe).

weraita wen Greffes yfeefmatare 2w e 3 (- 517)
(i) (Rv§)=T

F'o(R-5)

{R-5)D(Rv 5)
(i) (Iv o d)

~(IwvJ)

~(-n

(iii) 11 the weather is cold or the sky is cloudy then either we go for shopping or
we go for swimming. It is not the case that it we do not go for shopping then
the sky is not cloudy. So. either the weather is cold or we go for swimming.

" WEREW 181 G W WEE GNWE U O S e R0 e
we Fe wioe 18 oww a0 o, ofe e e sane A1 wE, e e
CITSE ST W11 FEak, B WAL Al «iE we wE e F00E mE)

4. (1) Why s truth tree method called a decision procedure?
wepaiE omfers oo fodfn smlfe o ¢

(b} Determine whether the following statements are tautologous or not by using truth
tree method:

e viete g e e’ v W et
(i) A->][d->(B&~-B)
(i) (A= 8)=2[(B2C)=(4=20))

(¢) Use truth tree method 1o determine whether the following set of propositions is
consistent.

s omfe s o e wae sefeed e Rfae s
(P = Q)
-P &= 0
Pe -0

5. (a) How can the consistency of a set of sentences be determined by using truth-iree
method?
e eife e ava frene e araT rfesde fadn =2 am o

(b) Use truth-tree method to test the validity of the following arguments:
FeparE) orfe wnn e Rfefee yfeafm tare fyr =mm
() (A&B)—=C
A= D/ B={Cv D)

(i) A—=C
B=aC/ s AdvBYy=C

4+4

4<3=12

1074 3 Turn Over
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(111) Morarty will escape unless Holmes acts. We shall rely on Watson only if
Holmes does not act. Therefore, if Holmes does not act, Mordarty will escape
undess we rely on Watson.
sy afr e uf o oo W 3w wnie el o Fiee wae o,
G =t (arnd T A1 A7) Hea, AW e e A S0, e wianfS aflm vee
fe an wra eulbwr Eva fada afa

Construct formal proof of validity of any three from the following arguments: 51«

(Do not use C.P.or LP.)

fuirfine qcemt feafB e snarese Tane) zm =g
(C.P. 41 LP. <481% %4 4 o)

(i) (Z2Z)2(42A)
(A=A)2(Z28)
s AD A
(i) (WaM)(IDE)
Wi
W= ~E)(l=> ~-M)
& Es~M
(i) (Rv~R)y=W /W
(iv) Socrates drank Hemlock. Therefore, enther Athenians were happy or not.
=¥ e % srElaem ) woR, awana a5 s e 5§ T )

7. (w) Use the method of conditional Proof w prove the validity of the following

argument:
srafs e wpafea wrarcn fefefae gfefia tare sum st
EoF
ES(SoN)
SO(NSF)
EDF

(h) Use the method of Indirect Proof to prove the validity of the following argument:

s e wxafen Warn e el Ter 2w ara:
(OvEY2(F 26)
(~ GvHY2(D-F) .G

(¢) Prove the mvahdity of the following arguments by the method of assigning truth

1074

values: (any fwo)
FE[F BA vaiea wEnm s TTeefE wae o = (- 5
() Ec(WvP)

WOy (P2D)

I'sE
6o - H
-0 -=D
T

I5
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.

(y K=o(l-M)
(LoN)v - K
O2(Pv~-N)
(-PvQ)y--0
(Rv-P)v-M
KoR

(i) 1 Julia s mtelligent and studies deeply, then she will get good grades and
pass her courses, If Julia studies deeply but lacks imelligence, then her
efforts will be appreciated and if her efforts are appreciated. then she will
pass her courses. If Julia is miclligent, then she studies deeply. Thercfore,
Julia will pass her courses.

f= sl fewd) w0 o3 MEFEIA S FA, T (5 I (S A1 43 AT
A | ufe wfern serera sTewe 0, oy g A1 o e v sl 5
oA, 47 X% T BY A S ST 4 T = W gy ) w v
O MEREA BIRTH] T | HEA S+ 990 |

Answer any three questions from the following:
el q-mn feafb eme Tee wa:

{a) Use truth-trec method to determine whether the following statements are
equivalent:

et o sione e e qaeefe snde B, fow 2o
(4= B) A& -8

(b) Use the method of ndirect proof to prove that the following statement is
tautologous:
STATT Sra afTn FE 2w = o frfefee a5l weiwe:

(A2 B)vi-420)
(c) Use the method of conditional proof o verily that the following is a tautology:
el e orafes wenn fufEfee ol o weisie), @ o wme
[(Av By CI=[(DD 2D 2 0))
(W ABC=T and XY, Z =F then determine the truth-value of the following:
W 4,8, C W gman X, ¥, 7 Tun e Tefre o o oy st
() PolYo(¥v-piy
(i X=2ld=2V)(¥=221

NGB r Siyeleres Aorve fo complene submmession of thewr Answer Seriges oirongl E-mad - Wansapp
for thir o respective colfegr on the sawe day / date of examination witfkin | howr
erfter end of exien. University / College authorithes witl aot be held responsdble for wrong
hlumiinabenn fiet d prrogner dildress). Stealenty wre trosiel advived nol b st wealtiple
cogmiey Of b e gaonar sori
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WEST BENGAL STATE UNIVERSITY

B.A. Honours |st Semester Examinaton, 2019

PHIACOROIT-PHILOSOPHY (CC1)

Fiewe Alloted: 2 Howars Full Marks: 50
The figgures in the meuryen fndsate fidl morks sifive Raw wgy ROl o e aoe
Ueoncliidotes shrld carswer tn Maeir oiasd wvirds witenNfy ST FOT v FEc weANE N
and addhore 10 the worsd lioir ay practicable Foe el

Ail symeboly wen of wswal sigonificany

Question No. | and 2 are compulsory, Answer any fwo from the rest
3 @t g4t 3 e oy wrafers | wafeg oo 0 2ve Bga e
I Answer any five questions from the following:
forsferfue ce.camz »Asf eie Twa we:
Ja) Who is the first natural philosopher in fonian School? What did he discover?
wE G iy e guw g wielas @ ¢ fofa B wfamn soafiea v
(h) *Man is the measure of all things'— State the significance of this statemen
“wrerEE 7 fege ofmiee 4 fasme - fefba wreed an=m =ra
J) On what grounds Anaximenes called that air s the first pninciple of the world?
ot Yfeers SR anes s 56 Somle aarE v
(d) Being and not-being are identical — What is the inner meaning of this statement?
g w3 wE wfen - el wfffe udfey
(¢) Distinction between knowledge and opinion sccording to Plato.
RO e e e ufsureq Wy el Fae)
(1 What s knowledge? — According 10 Descartes,
oesinde We @R #1 Y
(g) What does Spinoza mean by dictum “Nature Naturata™
¥8 2f’ qeny Ferae fo e ¢
) What are the three kinds of knowledge admitted by Spinoza?
Pwieier e Nge Gnvar sm A Ay
) Is Letbnitz a pluralistic philosopher?
Al & g sage welfae o
4i) What is the distinction between Truths of reason and Truths of fact”
4 3 878 ¥l g W FUETE WIS WO o #1 9

L5 ]

x5=10
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Answer any fwe guestions from the following:
frafafes m-cowe §fF aowa Bas we:

(a) Give a short description of St. Augustine’s “City ol God .

G WG FAEANE STE0R WA A

(h) Explain briefly Aristotle’s doctrine of Form and Maner.

Wil @ Toulel wewicd wplfebhoea Ba S0 v €2

Ac) Explain the eritena of truth as accepted by Descartes.

TS WHAY SE RO WAwe S0 BEn) S

Jﬁ d) What are the characteristics of Leibnitz's Monads?

A

1024

Frgafes hermmaep ey s fa fe o

What according to Plato is knowledge proper? How does he argue against the
view that sense-perception is knowledge proper?

CRCBH WEE Biwd orse & 9 e wne - s ot weefd o frera s
AL & SFEA A

Discuss Descartes’ doctrine of substance. How does Spinoza develop Cartesian
dualism into monism?

TS BATY SEA oA T feeite (RI0Ea Theas (VT ENEAT SHae
LT R

What is God, according 1o Spinoza? Explain alter Spinoza, the relation between
Giod and the World.

feeigrena wre Wz fe o Foirem v weurl] Sea e semes e« I

What does Leibnitz mean by principle of Pre-established Harmony? What is the
impornance of this principle in his Mctaphysics?
aftafre - ofEfie wenr 2o & aram ¢« ok wfifeam o ffez ewgfr e

(B~ ]

3+12

W7

1045
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WEST BENGAL STATE UNIVERSITY
H.A. Honours |13t Semester Examinution, 2019

PHIACORO2T-PHILOSOPHY (CC2)

Time Alloted: 2 Hours Full Marks: 50
The figurey in the margin indicate full marks ¥ St sy wenff e S

i “amudivkares shirwld geeswer in thedr own words esherdtan Srm Fww ey B weSRE W
vl adhre 1o the word limit ay prociicable Fae o2

Al symbols are of waud sgenificance

I Answer uny five questions from the following: 2=5=10

frufifie c-corat A5 are Tea wes

[_,a{ What do vou mean by product class?
() e 9IS % I ¢

(,l'ﬁ What is meant by ‘argument [orm®? Give one example.
‘e wrer e & aam « gafl Sazee dte)

{¢) Symbolize the lollowing:
ufiarive I

(i) p.only ifq.
p. @A g,

(it) p is the sufficient condition of g.
p. G- writey =

(d) What is the negation of a contingen! statement form? Give reason for your
answer.

safS mefes asammes v & o ¢ e SaE wors 3fe we

(¢y Translate the following sentence into Boolean notation and then express it in
terms of Venn diagram:

All who are educated are not iberal

farsre araifes 98 SFTE e F1m cenfboag RTT ST
¥4 s gife Twarye a

(f) Why is truth tree method called a decision procedure?
Hera wfers o= P s ar g

(g} What is ‘Indirect Proof” (L.P.)?
SETS S #ETE ST A ¢

1074 1 Tum Cver



2, Answer any fwe questions from the following:
lsinfe o 58 2om Seame:
(a) What arc the differences between material equivalence and logical equivaence”
TErE Fade & Ffee mador won el @ o

(bY Determine  whether the following statement forms are tautologons, self-
contradictory or contingent by means of truth table,

FETIRER RO A5 TenEaeln yene, Tl fou A1 wietfee v el =
) lp=(g2p)=oltgog)n-(rar))
m) [(p-g)sri=[p=(g=r))

(€) Supposing that | and O propositions have existential import. how much of the
traditional square of opposition will remuin? Explain.
SYEE | & O WL wepe veenl ans e gae e fEr semin
Fofe TRAE TR y G =
tgf Use the method of Indirect Proof (1.P.) to verify that the following statement is a
© tautology.
AT e o i T e o et ae weiven
(ASB)- A58

Answer any fwe guestions from the following
frefafes oo 420 e Soawe
3. (a) Test the validity of the following arguments by Venn diagram indicating the
mood and figure of each of them:
¥ & weg Brem w2 Frafefee yfeelie ave) ceafone werm Fuwm s

(1) Some children are not considerate. because all children are self-centered and
no self-centered person is considerste.

@1 (14 Fre faens o, e vew el ur.cafive s e wrrsfes afe?
frass

(i) Only teachers were present in the seminar. Some scholars were present in the
seminar. So, some scholars are teacher.

comralg et ofimme Sefae fem) frg nomave oifim Befie e o,
oy wrewas fems

1074 .
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(b) Test the validity of the following argument by truth table method:

weraila Wy frefefee gfofe et fvw et
Us(Fviv)
V- -W)yo-U
= "L'

4. (a) Determine whether the following statement is tautologous by using truth-tree

method:
Wt emfg wzicy Frare Il sorwer & o ety ezt
[A=(B=C))=[(A-B)»(A=0))

(h) Use truth tree method 10 test the validity of the following argument:

werr +imfe arast s foite Yfehatane e s
Aes B
A B

(ii) We shall fish if it rains and swim if it does not. Therefore, we shall fish or
SWim.
wwE W y4q T 9 = v W Fior oibca o O S T TEER wna 9 99
|/ Hhom FHTN

(i

(¢) Use tuth tree method to delermine whether the following propositions are

1074

consistent:
o] wafos wEra fFrame waefn wafaes! i fom s
A53C, BC, -4, -A>-C

4+4

Construct formal proof of validity of any three from the following arguments 5+3 =15

(Do not use C.P. or LP.):

fawifre cr-cerca =P fea wemere Tae owm S (C.P. 9 LP, 48R 3 1
)

B Jv(=J-K)
Jol
SAL-D=T

(i) (RvS)>(T-U)
~R2(V 2-¥)
-7
.

() G/ tv~H

(iv) If cither Socrates was happily married or clse he wasn’(, then Socrates was a
great philosopher. Therefore, Socrates was a great philosopher.

i 9w o o, vrebor Rafe S pee S e g e a1, o siehy
cawn we wiiae farem) wege =alb= grws wg= i o)

3 Tum Over



{¢fl lise the method of Indirect Proof to prove the validity of the following argument:
oirars e % fe2 sy fRefafes yfele lave e s
AD(B-C)
(Bv D)o E
Dv Al E )
[}Irf Prove the invalidity of any one of the following argunwnt!r:hj&:.. - AICUIURE W
assigning truth values.
FerEy Sicalel *wafes ey frefefae @-or oafp giea W o Tt
(1) M2(NvO)
N 2(Pv(Q)
OoR
~(RvP)l.. ~M

(ii) If John is intelligent and studics hard, then he will get good grade and will
pass the examination. I John studies hard but is not intelligent, then his effort
will be appreciated; and if his effort is appreciated then he will pass the
examination. If John is intelligent he will study hard. So, John will pass the
examination.

oA U T 2 e AR ST TS, O (1 S (HS SHE G PR o
Fa74) 3% T4 wiEas @2 276 oy ot A 23, o o7 GEie Az frs e e
W iR (551 91531 Y1 LR 5 #apeT o Fard ) ¥ o fEwe 2 e of A
FTAL IO FUA | FOER, T ALSA #iM FA)

ATA
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WEST BENGAL STATE UNIVERSITY
B.A. Honows 151 semedster Examinaton, 2018

PHIACOROTT-PiiLosoruy (CCH)

HISTORY OF WESTERN PHILOSOPHY

Time Alloed: 2 Hours Full Marks: S0
Pher fignires in D suseyn omiicate full marks amiye Fuw sy gt T Mok e
¢ andidees whowdd amimer in their own worsds wiireedfy Srew s ve wge wwiuy we
srad addhere b the word Jimit as praciicable FaT ¥

AL pypibale wve off sl shgmfleance

Question No. 1 and 2 are compulsory. Answer any fwe from the rest.
St S 3t o Wl walil cucenn ¥fb amea Ssa W
1. Answer any five questions from the following: =5 =10
FufEfie ccens o =om B et
ia) Which Philosophers are called “The lonians” and why?
T Wi e W B AW 05 ¢
(b) Who are Sophists?
el welfim wpa o
{c) What are the characteristics of true knowledge, nccording to Plato?
R s, wedwre e £ g
(d) How does Aristotle define ‘matter” and *form™
et $rorm Ter ¢ wE-ad we oS ¢
(e) How many types of ideas are admitted by Descartes and what are they”
(e 2 L AR FE s an e By
(1) What does Spinoza mean by ‘maodes’™”
‘sreer A R =g Persre § gacoe ¢
(2) What is the ‘Law of Sufficient Reason’ as admitied by Leibaitz?
wizafie fqre i g e # v
(h) What is law of contradiction according 1o Leibnitz”
wigafeiress warpite ylapainem f-usft 31 5
(£} What is an ‘attribute” according 1o Spinuza’
Pottaama urs “as &

1024 1 Turt Owtn
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(1) What is Eleatic School”
‘Hemihe srewm o0 F @ 9

td

Answer any two questions from the following: Sx2 = 10
feforfare (ecoran §fF =owq S wte:

{a) Explain the Philosophical View of Annximenes. 5
TR Wi TEAE e e

(b) What does Descartes mean by 'Criterion of Truth™ 5
e weie WS’ e B R ¢

(¢} Explain the distinction between the three levels of knowledge as admitted by 5
Soi
ooy e w o wom g snde g 2

(d) Explain Leibnitz's doctrine of ' Pre-established harmony”. 5
wnEalear i ofEfie = aman a4

3. Briefly discuss Aristotle’s objections against Plato’s theory of ideas. Discuss, in 1243
this connection Aristotke’s “Third Man® argument.
i wiftered fraos wilEa6ome wivfael wouwiy B 4| L8 P wiRpieH
o FE WY WOl 9

4 How does Descartes arrive at his principhe “Cogito ergo sum™? Can it be regarded 10+5
as the foundation of his Philosophy? — Discuss.

e Freva “wik fim of, wsoq wfil wfe” < s Wi sow » i &
wha welre ffaage ooy e W 4 — WICFbHT #)

5. How does Spinoua define ‘Substance’? Explain, following Spinoza, how B+7
substance is related to attributes.

frogsite) FreTcy Hram Foen Feyoest ¢ (IERCS SR BT HUUE 0w el el
T 4

b, Explain in bricf, Leibnitz's doctrine of Monads, How many types of monads are 847
recognised by him and how does he explain their relationship?

Rl ST O EFTHAl B W e 30 SA SIS S0 4R
frsira® a1 wyeg e Tw)| SL208= ¢

e B e

1024
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WEST BENGAL S“I‘hTE UNIVERSITY
B.A. Honours 15t Semester Examination, 2018

PHIACORMT-PHILOsSOPHY (CC2)

WesTERN oG-l
Time Alloged: 2 Hours Full Marks: 50
P figwees im e sargin andicase full mariks, adye Fup sy wel et e e,
< andidkine s ot aswer o thesr own wands Pyl e T vor Fye weftin oy
sl cihre to dher wordd Lt aan pranc ticable Bev ofv)
Al pmbals are of wiosl! digepicanes
| ¥ Answer any five questions from the [olhowing: Ixg = 10
frufeiie cr-evml ol som Ten e

(@) Transiate the following sentence into Boolean notation and then express it in
werms of Venn diagram:

Women and only women are tolernt,
e a1 s 3itm e o o e wme s a3
A e (sarig 'S dmaey
(h) What is the negation of a tutology” Why?
G wEws; arai e e # e @y

{c) Distinguish hetween a truth functional compound statement and a non-truth
{unctional compound statement.
wenees (Aifile ale) & wpnasrees e aoa son wde) ea

{d) Give logical equivalence of the proposition 4 = B in terms of ** and *-°
CA = R SE TR S FEAE 15 W6 0 60 WE

{e) Whal is existential fallacy?
WG] (o T Ay

(1) What is counter example? Give example.
4 Wil 10 amn v SarEe We)

{2} What is Conditional Proof? Expluin with example.
snafus s wafe 910 4w Bz 4T 94

(h) Give one distinction between Rules of Inference and Rules of Réplacement.
et 75 6 e W Wy a3l el e

() I~ pog=F . then determine the truth valuc of p=g
W pog-F e p = g -0 ST e

1074 | Tum Over
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2. Answer any fwe questions from the following: §=2=10
fasfifae oncotan ¥ mona Sea me:
{a) Whai is o “Null clasa™ What is its imporance in the Boolein interpretution of o §
categorical proposition”

weijre o ) 5 fSatem a5iaa M A ge wet By

{b) Determine whether the following ststement forms are tutology, self- 25425
contradictory or comtingent by means of truth 1able:

iy palp=(g--qi
i Upvi=-p=gl=(p=q)
wepiata W Aiee wesieets wersl, vesfaa @ wvfes o fadfa sa:
0 p=lpaig-~q)
() [(pgivi=p~qll=ip=q)
(¢) What are the differences between exclusive disjunction and inclusive disjunction? 5
frma ae wfema® “avar-g wade) e
(i) Use the method of Indirect Proof 1o verify that the following statement is a §
tautology.
A=Av(4- 00
AT o ~fefEe Moo e w=o o e 29l weos)
Au|Avid-M)]

Answer any o questions from the following 152 =30
fersfefars cucomen ¥ sowe Baa e
3. (#) Test the validity of the fodlowing arguments by Venn diagram. §+5
Cowineae Frajey fwafeiee 1fes toret i e
(1)  Nosnakes fly,
Some snakes lay eges.
So some creatures that lay eggs do not fly.
C8lHG W sty
AT e e S 0 1
et o¥te) cte B v fER Ws, @ e0s o

{ii) Where there is smoke there is fire, so there is no fite in the basement,
because there is no smoke there,

R % AR 2, e TR RoE A% (7R TRV T R AR
th) Test the validity of the following argument by truth table method: 5
wepiafa majon fufefe yfefla tave v o
AS{Av )
~Bv-C
Cod

1074 2
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4. (4) Why is vruth tree method called a decision procedure? 3
warnil wefere coa forfu e qon 20 v
(b) Use truth tree method o determine whether the following propositions anc 33
consistent:

(1 We shall swim even if it rains, we shall swim.

(i) A>(B&C), (BvC)—>D

srEpe ofefe sione 2 sz avera mofbep o fasie =
(i) Fiem e de 4B w1, =R siter wfiwn

(i} As(BROC), (BvO) D

(c) Determing whether the following stitements are tautologous or not by using truth 343

tree method:

(1) A-][(4 »B) -» 8]

iy P[P (& -]

el il wa ose deie weors fow cone:
(i) A-|(4-+8)»8]

(i) P[P+ (Q&-Q)]

Construct formal proof of validity of any three from the following argumentss  S<3 = |5
(Do oot use CP.or 1P

ffefie - a8 e wetate Taner wa $a (C P, € LP. 9950 23 Wis
1)
i Faw I (F-8Yy=WF
(i) (AvE) (C-D)
-0 f5~R
(i) (Rv S)o(r-1H)
~RF 3-¥)
~T [a=F
(iv) Socrates is & philcsopher. Therefore, woday is Monday or today i not
Maonday .
sl owe il | WEE im ONEH W W TR

6. (a) Explain the method of Indirect Proof as a method of proving asgument. 3
fere aate o Spacw wiare 2w el G #
(b) Use the method of Conditional Proof w prove the validity of the following 4
argument:
AS{BC)
B=(C =D [ Aa{Ba D)
erafae s s fea snucy fufofee yfnie T suv 22:
AS(B=C)
Bo(C = D) [ A=(B2 D)
0 3 Twrm Over
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() Use the method of Indirect Prool 1o prove the validity of the following argument:
(-X-N)=Z
(Yo2ysu
-X LU
sary st afEa wrry Muiee Yiefe love) saw g
(-X-¥)=2
(Y =>Z)ysu
-X U
(d) Prove the invalidity of any ome of the following arguments by the method of
assigning truth values.
Hers wicar o fea e Howre oo @ fB e sltawe e

(i) 17 Mira is intetligent and studies hard, then she will get pood grades and pass
hir courses, 1T Mita studies hard snd lacks imtelligence. then her efforts will
be appreciated and if her efforts are appreciated then she will pass her
courses. If Mita is imelligent, then she studies hard. Therefore, Mita will
pass her Courses.

o Frot 18 50 aan W EIOT A8 E0E 07 SIFT {NE Vi 4R WS S8
e ¥ foe wil wEreen s fog gl a1 @ e or Sfe0m ) O
srafre B o wr Reren w o o e B e o e B8 wa | v
fret gfe=d) v mrem o el wrgres $ama) e firm) sovemca B8 w2

(if) S(Fal))
V a2(Wodh
T ow-w)
~(r:X) /..§=aU

1074 4



